Cube identities in 2

variables
@+b) = (a+b) x(a+b)

@-by’

D | o



Important formulas:

(a+ b)g =36L2 b +30~b2

b— ) Mab @@
S @-bY = ©C-3-b 436~ b
o ey,

D —_— 2



0.7@2)%= @%_ 20b(a +b)j v
= <a+b) [(Gfb)z— Sab]
= (@+h) <a1+b7_— ab) "
0>b’ = (@-b)'+ 3ab(ab)/
= @5) @R 13ab)
= @-b) (@55 o)
D ]




= a3 + b3 + 3ab(a + b)

3

a+b

(a +b) = a3 + 3a®b + 3ab* + b3
_ 3 _ p3 _ _

(a _ b)3 =a’> —b> —3ab(a—b)
= a® — 3a%b + 3ab? — b3
_ 3 _

o3 n B3 = (a+ b)° —3ab(a+ b)
= (a + b)(a®? — ab + b?)
= (a — b)? + 3ab(a — b)

a3 _ b3

= (a— b)(a® + ab + b?)




6o.lf p — 2q = 4,then the value of p3 — 8¢ — 24pq — 64 is
X p—2q=4, @ p?—8qg> - 24pq — 64 FT AT
a) 2 A0 c)3 d) -1

2
@-b)%: a’-b -2ab(@-h)

%5 .3
(P—ZGO = (6-b)
D p- Rq>- 2xPxLY = 64

=) DP2Ry2
) P8P 6= 0




é6.f m—5n = % then the value of (m3 — 125n3 — 30mn)is
3-171T(m — 5n)= 2, ar (m® — 125n% — 30mn) FT A:
a)6 b) 7 28 d) 9
3
m — ]?_Sng—- XXM xNxA= K

=) lmg—IZan’- Zomn,=§
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2 3 b’é £7.1f x =@+ 2, then the value of x3 — 6x2 + 12x — 13 is
@\;b) ’—OLZ n R x = V5 + 2, @ %% — 6x% + 12x — 13 & _A:
+30p — 30 L b) 1 c)2 40

2
(-3-45)
9 %2 -6t 5
<) -tz -3=0

D 7



681 5x + 9y = 5 and 125x3 + 729y3 = 120, then

the value of the product of xand y is
(_‘tb) /) +b+30\b@+b) 5x +9)Dl}’ St 12570 +729y% = 120 &
\/a\n"\‘x

y T J0TA6 FAT B19T?
b)g o d) 135
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@ub}i Ba’ b 150 bL

'I)&PM«WOW. |
i) 2 fuams Codaunirg 3

i) Power in AP,

N5 TN N N\
(Ot*b> = Q6+ %oi“b@&k\h b(’xa"




@.Ho)q’ » b=

Sy = @Aer @0
N\

Pogect G




@.1f p = 999, then the value of /p(p2 +3p + 3) + 1is

3R p = 999, dr 3/p(p2 + 3p + 3) + 1 &I A:
1000 b) 999 c) 998 d) 1002

S'JP?’T%Pz'—t 30+
"—?J <P+I>%

= PH=99¢)=100¢




70.1f p = 124, theny/p(p? +3p + 3) + 1 =?
R p = 124, @3/p(p? +3p +3) + 1 =

a)5 b) 7 c) 123 125
o (per)®

=1 2Mt= |55




T01f p = 99, then value ofp(pz +3p + 3)is
I p =99, A p(p? + 3p + 3) T A

a) 999 b) 9999 c) 99999 /fgggggg
2 2
pPt+3p+ 3p -;-ﬂ— /
lgo-|= 2
Jo-1=99 - QD+’> |

\000-1=99)9
= (lov)- |

\030 00D ~ |




72 pr +3p + 3p = 26, then the value of
p_+2 1)+
uﬁp +3p +3p.L 26 g o p2+2p

CAIE 1y
-2 \/aa/s / b) 12 c) 10 d)15

(pr1)= a7
P+l =
P=3
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73-1f m = —9,n = 8, then the value of m® — 3m? + 3 n+ 3n? +

n3is
A m=-9,n=8, dlm3 —3m? + 3m 3n+3n2+n?] L IGH
a) 271 -271 -1/

15



- x+y+z=2sfind(s—x)>+(—-y)3+3(—x)(s—y)z=?
I x+y+z=2s8 A (s—23+(-y)3+3(—-x)(s—y)z
ST AT/ ATT B |

//df}3 b) —z3 c)0 d) 223

LtY+2= S+S 2 932
G+b)= Q°tb+ 2ab
7 (s (59 (G+b)= @’+b+ 2ab(a+bh)

A b
D 20 @K)%J« (S'\ﬁ +">(5-1)(S—\3>2

D —






725, If (8x3 + 27y3) +g( 2x + 3y) =,5§Ax2 + Bxy + Cyzg_, then
the valu% &394+ 30 A% -ch +b
Ifg (8x° + 27y + (2x + 3y) = (Ax?* + Bxy + Cy?) a

(54 + 4B + 3C) &I AT §:

a)27 b)24 3 d)71 . qu
3, 3 éﬂ WL 673'1_ 9
X’4b _ 2 %

= Q'fb’ab A:(1
MO - globr™ Qo jaz iy
___2\1 -

2n)t* 9




74- If 8x3 — 27y3 = (Ax + By)(Cx* — Dy* + 6xy),then (A+ B+ C—D) is
equal to:

afe 8x3 - 27y = (Ax + By)(Cx® — Dy? + 6xy) &, &Y (A+ B+ C—D)
famafaf@a & @ Fas e 87 2-
a)-12 o wﬁfl% c) 15 d)9 24449
AR i
a b

o’ b= @-0) (@6 o)
3
) QED% =(ax-3y) Q*ﬁo\%ﬁ by )
A= R GY P9




; _@YB = (Y2x-— \/§y)(Ax2 + By? + Cxy), then
the value of 42 + B2 — ¢%is: b

e 2v2x® ~ 3V3y® = (V2x - V3y)(Ax® + By? + Cxy) &,
A+ -CCmFmATE

a)11 _bf7 )19 d)10 o?'z}Jrg??—_,L JZ‘%L
> 2

J:Z} - .ﬁ: =

( OL) <_bﬁ) Y+9- ¢

q—%‘ b-3 - (0\ -b) 0\’)__\_ b—);' o\b) 3

=7




78,1 24+/3x3 + 5V5y3 = (2v3x + V5y) x (Ax? + Bxy + Cy?),then
what is the value of (4% — B% + C%)?
afe 24v3x3 + 5V5y° = (24/3x + V5y) x (Ax? + Bxy + Cy?) &,
ar (@ =B%+ C?) &1 & ?

2
a)108 b)128 ypg d)135-C -Zﬁby 1532'

O
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9 1f 250v2x3 — 5vV5y3 = (5v2x — V5y)(Ax% + Bxy + Cy?), then the
@ value of (A + C —V10B) is:

= (5v2x — V5y)(Ax* + Bxy + Cy?)~g, &
(A+C—+V10B) FT AT g ~—

a) 10 b5 o5v2 & a2 50%2+SJ|’6%5,+ 591

7
0= 6%~ (a-b) Q&mm/b:-) /

SSC CHSL, 03 Jul 2019 S2 | B



go-1f (135V5x3 — 2v2y%) + (3V5x — V2y) = Ax* + By* +V10Cxy ,
then the valueof (4 + B - 9C) is:
afe (135v5x% — 2v2y%) = (3V5x — V2y) = Ax* + By + V10Cxy
ar FT AT g—— ~—

910 % /J“ﬂ M5f+25'+3f:6x3
4

agln
@b") - a4 b%ap A=us
0b 35

SSC CHSL, 07 Jul 2019 S2 23



gl.1f x6 — 512y° = (x? + Ay?)(x* — Bx*y?* + Cy*), then what is the value of

(A+B—C)?
IR x® — 512y° = (x% + Ay?)(x* — Bx%2y%2 + Cy*), @& (A+ B —C) &I

AT T 87 72 Qg'— 3y%) (14 Zx??l +4u 2‘1)

a) — 72
d)4-8
L) (\a) T [;_ng -6

= (0-b3 (O toloyg ) <4
-¥-8—6Y4=-%o




82. If [8(x + )3 —27(x — y)3] = (5y — x) = Ax? 4+ Bxy + Cy? then the
valueof (A+ B+ C) is:
IfE [8(x+y)2-27(x—y)3]+ (By—x) =Ax2 +Bxy+ Cy* @
(A+ B + )=t AT &

6@2-»9 a)27 (b)24 _¥i6  d)18

[9\(1 2 0\— L"L 'i'Mg +8’>"a.
%‘M +b = G Mg 182y
1% b tab = 6~ 6y”
Fabid )=> I3 Y2 Qx«a_j
Pf:‘q/ 6:—|0; é#

25



Quukon A weaknulh:
A= y:.]
6= 6”_0 =A+B+C
Y

(86" - 2169+ G550 = g

X=1 2 Y=o, ﬂz@::q =l g
X=0, y- , )
'\3" C= Qen_ e
- T
S =8

D | 2



83 If 8(a+ b)3 + (a—b)® = (3a+ b)(Aa®? + Bab + Cb?),then what is

the valueof (4 + B — C)?
af§ 8(a+b)® + (a—b)® = (3a+b)(Aa® + Bab+ Ch?) &, dt
(A +B— C) T HTeT FIT 9T ?
10  d)i1

[&(mb)] +[a 5]

UaZ:Yb +8ok

O* 16 -0k
2
'K_))-\-g - (’11\3> (’l _\_\a_y,,a> > ‘QO\ _T_g\bL
2ath 30 +15+6ab
ﬂbg/ C=1 R=¢




8 (_0‘1"));*' (a—b)z (%6+b) (Ad + bab+C b)
=90 b= — 8-1=C = (=7
a=1, b=0 — 8‘?*:1"— XA

= el So < (31847 )
6=R
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gy If 8(x+y)3 — (x—y)3 = (x+3y)(Ax* + Bxy + Cy?), then the
valueof (A— B —C)is:
afe 8(x+y)3—(x—»)°%=(x+3y)(Ax* + Bxy + Cy?) & @

(A—B—C) &1 A & _ _ ~
b)-6 c)10 A=T,5 é,("23

Ay)  (ey) ‘47LZ+‘49 “+ 9%y
. b x* *"d Z‘wa,
11-33 21 2~,1

_llzﬂg t 67y

E— .



¢ Given that (2x + ¥)3—(x + 2y)° = (x — y)[A(x* + ¥*) + Bxy|,the value
of (2A—B)is: A b
fam s § & (2x+y)3-(x +2y)3 = (x — y)[A(x® + ¥?) + Bxy| &,
ar (24 — B) #T AT AT B
a)7 b) 6 )0 vd‘ﬁ

2z 2
R LA B

4
ysr_ Y=t}
7, B ’7("1*71)1“:3";&

D scommn |




31



	Untitled Section
	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31


